
Goniometria 3: EQUAZIONI goniometriche - 4° Liceo Scientifico 
Soluzioni SIMULAZIONE 

1) 23 2 2 0ctg x ctg x      2 3 2 1 0ctg x ctg x       4 2 3 2x k x k         

2) 3 2 0sen x sen xcos x     4 2x k x k      

3) 3 5 6 2cos x cos x sen x sen x     prostaferesi  4 2 0sen x cos x sen x    
52 26 6 4

kx k x k x           

4) 
2 211 3 26 4cos x sen x cos x        2 2 0sen x cos x    4 2x k    

5) 
43 3tg x tg x                

3 1
4 3x k x arctg k        

6) 
3 3 4sen x sen x                

1 19
48 2 24x k x k       

7)  1 3 12sen x cos x     
1 12 26 3x k x k         

8) 2 27 2 3 4sen x cos x sen x cos x      
5 1
6 3x k x k         

9) 2 2 1sen x cos x    
3

8 8x k x k         

10) 
14 2

xtg sen x        2 22x k x k      


